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*Section —B(wmz ')
Section ‘B’ contain Eight Short Answer Type Questions. Examinees will have to
answer any four (04) questions. Each question is of 08 marks. Examinees have to
delimit each answer in maximum 200 words.

= .5.msaﬂmuﬂuﬂzw“uﬂﬂq@%%&u&&ﬂzﬁgawawﬂﬂ_
ﬁmﬂuﬂam%uﬂi%ﬁmﬁﬁﬂgngim%ﬂﬁ%ﬂ@ﬂ
_ Let a,b are arbitrary element of complemented distributive lattice (4,<) then prove that.
(aUb) =a'N¥’
AT a,b i werE s (4,<) sawymat e s
?C& =a'¥
 Let G be a simple graph with n vertices and e edges. Then prove that number of edges
nln-1) -

2 g
R A R p M R EE TE G AT G ¥@F aw G 3 B0 A gEw
z?uictm et 31

. Find generating function of numeric function a, = r{r+ 1),r20.

FEERET a, = rlr+1),r20 T S T T HIH

. Find conjunctive normal from CNF of Boolean.

function flxp3)=x +3,) (] +x,)

wa e f(x,x0.x)=(x +x)(x +x,) a5 e A yETET 9 (CNF) i i
. Prove that the set of matrix of order 2x2

Q"#Ln_x_d H—H i
L sna cosSe |}
frg w0 fF 2x2 Ff % e = =
o.nTn:n uﬁan Lms% @ o e dET)

in complementary graph G , is

cos@ -—sing :
.ﬁ (where @ is real number) is a group.

sin@ cosd
syegd B e e g wEd
. Leta, & b, are numeric function where
ﬁ,i 0sr<3 Lmr& 0sr<2
2'+3  r=24 R L

a. =

and
Then find product & sum of a, & b,

AT a, T b, HEATE A &
nqﬁ,i 0<rs3 ﬁim 0<r<2

r r

& =
2743 rzd . 3 -1 rz3
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Let H =4Z , Find all coset of (H,+) with respect to group set of integers (Z.,%).
ST H = 47 R e (2, +) ¥ st 6w s (H,+) & wft wEger TR

i 23} neoibog)
Let 9= (V.2.5.P) isa grammar where v={5.4] 2= T.w-. $ is starting symbol and

P ={S > ada,A—> aAa, A = b} then find language L(G) penerated by G.
T G=(V.5.5.P) @ = & s v={s,4), £=fa,b} S B Foic Al e
muﬁivﬁa,miﬁakiaﬁ G o S w1 i i

Section —C(wve ')

Section ‘C’ contain 4 Long Answer Type Questions. Examinees will have to answer
any two (02) questions. Each question is of 14 marks. Examinees have to delimit
each answer in maximum 500 words.
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(i). Prove that in a non trivial tree there are atleast two pendent vertices?
@Nﬁwmﬂﬂﬂsﬁmﬁmﬁ@ﬂn&i%@w@

(i), Prove that a binary tree with n vertices has height at least [log, (n+ 1)-1]and at most
MWW. (where Tk T minimum integer  nt)

o e s et R g ) S 3 [log, (a-+1) - 1] o s & 7w ol b
[M]= AT 2 m)

_(i). Find minimum number of persons in a office so that five persons bom in same month.

iﬂaﬁumﬂiﬁﬂmﬁgﬁm%@n%ﬁmfﬂﬂ@@ﬂnﬁmiﬁ
(1i). Explain finite state machine.
wrfrfir s B ST SHEEY -

In a Boolean algebra Am.ﬁ.u.b.c. Prove that the binary relation <. Is a partiai order

relationon B .

forg R f aeha e (B,+,.'.0,1) # Romnfi g £ B ot 77 9 T B

(i) Let A=R-{} B=R-{i} Then prove that the function - A— B where

flx)=2 |“ , x & Ais one-one and onto.

=
st A=R-(), B=R-{). 7@ R AR T [ A BT BTHM. red
il SR B

(ii). Prove that inagraph G, e is cut edge ifand only, if e does not exist in any cycle.
g FtRETE G R AN € e aR A R ol daa e, G 3 guftera fredt ot 55
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